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QID : 201 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

I have give (1)/ you my (2)/ ring last week. (3)/ No error (4)
Options:

1)1

2)2

3)3

4) 4

Correct Answer: 1

Candidate Answer: 1

QID : 202 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

He is merely the personification of ‘the good, the bad, and the ugly’ of (1)/ news channels or perhaps the manifestation in (2)/ television news at its best. (3)/ No
error (4)

Options:

1)1

2)2

3)3

4)4

Correct Answer: 2

Candidate Answer: [ NOT ANSWERED ]

QID : 203 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

The parting was painful for

Options:

1) two

2) second

3) both

4) it

Correct Answer: both

Candidate Answer: [ NOT ANSWERED ]

QID : 204 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

The mind is a tool to achieve levels of consciousness, wisdom and bliss.

Options:

1) higher

2) digaonal
3) vertical
4) horizontal

Correct Answer: higher
Candidate Answer: [ NOT ANSWERED ]

QID : 205 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Incessantly
Options:

1) Ceasing
2) Irregularly
3) Steadily
4) Unevenly

Correct Answer: Steadily
Candidate Answer: Steadily

QID : 206 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Ruse
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Options:

1) Rules

2) Fuel

3) Trick

4) Exchange

Correct Answer: Trick

Candidate Answer: [ NOT ANSWERED ]

QID : 207 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Incorrigible

Options:

1) Hopeless

2) Incurable

3) Reformable

4) Loser

Correct Answer: Reformable

Candidate Answer: [ NOT ANSWERED ]

QID : 208 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Eventual

Options:

1) Future

2) Last

3) Overall

4) Initial

Correct Answer: Initial
Candidate Answer: Initial

QID : 209 - Rearrange the parts of the sentence in correct order.
Disadvantage of wired telephone

P : due to the line breakage

Q : connection is the loss

R : of connectivity during disasters
Options:

1) QRP

2) QPR

3) RQP

4) PQR

Correct Answer: QRP

Candidate Answer: RQP

QID : 210 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

Tanya will bring the snake.
Options:

1) The snake will be bring by Tanya.
2) Tanya will be bringing the snake.

3) The snake will be brought by Tanya.
4) The snake brought by Tanya.

Correct Answer: The snake will be brought by Tanya.
Candidate Answer: The snake will be brought by Tanya.

QID : 211 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in
Indirect/Direct Speech.

The beggar exclaimed, “will none of you help me?”
Options:

1) The beggar asked to help him.

2) The beggar exclaimed whether none of them would help him.
3) The beggar exclaimed would none of them helped him.

4) The beggar exclaimed whether they would help him.

Correct Answer: The beggar exclaimed whether none of them would help him.
Candidate Answer: The beggar exclaimed whether none of them would help him.

QID : 212 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Expernce

2) Experience

3) Expeireince

4) Expereince

Correct Answer: Experience

Candidate Answer: Experience
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QID : 213 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the
given blank out of the four alternatives.

We get sleepy and wake up, become hungry and thirsty at certain hours, force of habit. We form the habit of liking a certain chair, or nook, or
corner, or path, or desk, and seek this to the exclusion of all others. We use a particular pitch of voice and type of enunciation in
speaking, and this becomes one of our characteristic marks; or we the habit of using barbarisms or solecisms of language in , and these cling

to us and become an inseparable part of us later in life.

at certain hours, force of habit.
Options:

1) tough

2) thought

3) though

4) through

Correct Answer: through

Candidate Answer: [ NOT ANSWERED ]

QID : 214 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the
given blank out of the four alternatives.

We get sleepy and wake up, become hungry and thirsty at certain hours, force of habit. We form the habit of liking a certain chair, or nook, or
corner, or path, or desk, and seek this to the exclusion of all others. We use a particular pitch of voice and type of enunciation in
speaking, and this becomes one of our characteristic marks; or we the habit of using barbarisms or solecisms of language in , and these cling

to us and become an inseparable part of us later in life.

desk, and seek this to the exclusion
Options:

1) than

2) there

3) then

4) that

Correct Answer: then

Candidate Answer: there

QID : 215 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the
given blank out of the four alternatives.

We get sleepy and wake up, become hungry and thirsty at certain hours, force of habit. We form the habit of liking a certain chair, or nook, or
corner, or path, or desk, and seek this to the exclusion of all others. We use a particular pitch of voice and type of enunciation in
speaking, and this becomes one of our characteristic marks; or we the habit of using barbarisms or solecisms of language in , and these cling

to us and become an inseparable part of us later in life.

We use a particular pitch of voice
Options:

1) habit

2) habits

3) habitual

4) habitually

Correct Answer: habitually

Candidate Answer: habitual

QID : 216 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the
given blank out of the four alternatives.

We get sleepy and wake up, become hungry and thirsty at certain hours, force of habit. We form the habit of liking a certain chair, or nook, or
corner, or path, or desk, and seek this to the exclusion of all others. We use a particular pitch of voice and type of enunciation in
speaking, and this becomes one of our characteristic marks; or we the habit of using barbarisms or solecisms of language in , and these cling

to us and become an inseparable part of us later in life.

marks; or we the habit of using
Options:

1) from

2) form

3) for

4) of

Correct Answer: form

Candidate Answer: for

QID : 217 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the
given blank out of the four alternatives.

We get sleepy and wake up, become hungry and thirsty at certain hours, force of habit. We form the habit of liking a certain chair, or nook, or
corner, or path, or desk, and seek this to the exclusion of all others. We use a particular pitch of voice and type of enunciation in
speaking, and this becomes one of our characteristic marks; or we the habit of using barbarisms or solecisms of language in , and these cling

to us and become an inseparable part of us later in life.

language in , and
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Options:

1) young

2) younger

3) youths

4) youth

Correct Answer: youth

Candidate Answer: [ NOT ANSWERED ]

QID : 218 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

By courtesy of

Options:

1) Be very polite.

2) Do a philanthropic act forcefully.

3) Be brave and face risks for the team.
4) Given or allowed by.

Correct Answer: Given or allowed by.
Candidate Answer: [ NOT ANSWERED ]

QID : 219 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

In the same boat

Options:

1) When the option that you have is equally bad as the situation you are in.
2) Life like the river throws the same challenges for all boats.

3) Be in the same difficult circumstances as others.

4) Big and small boats suffer the same fate in a storm.

Correct Answer: Be in the same difficult circumstances as others.
Candidate Answer: When the option that you have is equally bad as the situation you are in.

QID : 220 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

Critical explanation or interpretation of a text, especially of scripture
Options:

1) Oblivion

2) Nascence

3) Exegesis

4) Naivete

Correct Answer: Exegesis

Candidate Answer: [ NOT ANSWERED ]

QID : 221 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

Destruction or slaughter on a mass scale
Options:

1) Enshrine

2) Cenotaph

3) Opulent

4) Holocaust

Correct Answer: Holocaust

Candidate Answer: [ NOT ANSWERED ]

QID : 222 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

That year too, ‘Photographers’ (was listed) separately in the Trade List of The Madras Almanac.
Options:

1) is listed

2) were listing

3) were listed

4) no improvement

Correct Answer: were listed

Candidate Answer: were listed

QID : 223 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

But we expect them (to performs) better than all others.
Options:

1) to performing

2) perform

3) to perform

4) no improvement

Correct Answer: to perform

Candidate Answer: to perform
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QID : 224 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

Next to the Punjabi

A-clad in beautiful sarees

B-family was a group from Chennai in
C-which all the women were
Options:

1) BAC

2) ACB

3) BCA

4) ABC

Correct Answer: BCA

Candidate Answer: BCA

QID : 225 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.
Options:

1) meritocretic

2) meritocratik

3) meritocretik

4) meritocratic

Correct Answer: meritocratic
Candidate Answer: meritocratik

QID : 226 - In the following question, select the related word pair from the given alternatives.

Options:

1) Hat : Head

et AR

2) Shoes : Socks

oA

3) Laces : Cotton

6 : AT

4) Shirt : Legs

FAeT : X

Correct Answer: Hat : Head
e R

Candidate Answer: Hat : Head
adr: ]

QID : 227 - In the following question, select the related number from the given alternatives.
15:22::19:?
TerAfafed weal & U 1w fashedl & & Heiftid Fear &1 giav|

15:22::19:?
Options:

1) 24

2)20

3)26

4) 22

Correct Answer: 26
Candidate Answer: 26

QID : 228 - In the following question, select the related letter/letters from the given alternatives.

BCE:IJL::CDF:?
rafaf@e ueat # AT 1w fasheul & & Hafera srar/ 3Rt # giav)

BCE:IJL::CDF:?
Options:

1) KLN

2) JKM

3) JLN

4) KMN

Correct Answer: JKM
Candidate Answer: JKM
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QID : 229 - In the following question, select the odd word pair from the given alternatives.

ForfeIfre et 3 forw aTe el 31 < oo ereg ot 1 9o
Options:

1) Red - Stop

ool — &chedl

2) Green — Go

BT — ST

3) Pink — Red

TSl — Tel

4) Yellow — Wait

Arelr — ghet

Correct Answer: Pink — Red
SISl — ATl

Candidate Answer: Pink — Red
TSl — e

QID : 230 - In the following question, four number pairs are given. The number on left side of (=) is related to the number on the right side of () with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

e fw oTT vee #F, IR e oA fGw aTw §) () & St AR & He (-) & et 3 & a1 WA @ 7%/ aw @ atd §1 et 38T U /e F UR o) a#Het
g1 few are fawedt # & fest &1 gw

Options:

1)19-57

2)13-39

3)23-69

4)17-53

Correct Answer: 17 - 53
Candidate Answer: 17 - 53

QID : 231 - In the following question, select the odd letter/letters from the given alternatives.

AT weat # 4T 10 fashoul & & fawer 37eR/316RT &1 giaiv|

Options:

1) RSUW

2) CDFI

3) KLNQ

4) STVY

Correct Answer: RSUW
Candidate Answer: RSUW

QID : 232 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Philosopher
2. Pharmacy
3. Piercing

4. Salesman

5. Saleswoman

e Qreal T QTeeehier # 3T aTel Tl & TaR ford|

1. Philosopher
2. Pharmacy
3. Piercing

4. Salesman

5. Saleswoman
Options:

1) 21345

2) 53214

3) 34215

4) 24513

Correct Answer: 21345
Candidate Answer: 21345

QID : 233 - In the following question, select the missing humber from the given series.
14,17, 21, 24, 28, 31, ?
TerAfafed weat & U a1v fashedl & § oo 37 AT HIioIv|

14,17, 21, 24, 28,31, ?

Options:

1) 32

2) 33

3)35

4)34

Correct Answer: 35 Ny
Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click



http://www.superpathshala.com/2018/03/SSC-CHSL-2017-Tier-1-All-Question-Papers-with-Answer-keys-PDF-Download.html
http://www.superpathshala.com
http://www.superpathshala.com/2018/03/SSC-CHSL-2017-Tier-1-All-Question-Papers-with-Answer-keys-PDF-Download.html

Candidate Answer: 35

QID : 234 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
H K N,?TW,?
Teh 3TTehe T a1 B, Forad & weh ue ofed 81 U aTv fashout # & @ HEl faehod YA, i 3egsha Sl O |

H K N?TW,?
Options:

1)R Y

2)Q, 7

3)R, Z

4)S, X

Correct Answer: Q, Z
Candidate Answer: Q, Z

QID : 235 - Six batteries are kept one above the other. Jumbo is just above Pick. The Volt is between Tank and Ping. Lift is between Jumbo and Tank. Which
battery is at second position from the bottom?

BF SR T Teh & FR Ueh @1 I § | 54, T & 81 IR §| dfee, T o Her & 7eg §1 forwe, el aam & & Aed §1 @le A Sl o 8 g vre g2
Options:

1) Pick

[EED

2) Tank

&

3) Volt

dice

4) Jumbo

ST

Correct Answer: Jumbo

ST

Candidate Answer: Volt

dlec

QID : 236 - From the given alternatives, select the word which CANNOT be formed using the letters of the given word.

Grandmother
T 91T fashedl & & g5 2feg AU ST U 7T 2reg; & R T THIT Hleh AT FA1AT ST el & |

Grandmother
Options:

1) Read

2) Other

3) Author

4) Reed

Correct Answer: Author
Candidate Answer: Author

QID : 237 - In a certain code language, “"MAGNET" is written as "WHQIJIDP". How is “FRAUDS" written in that code language?

s faflise #g s7wr /, “MAGNET” & “WHQJIDP” for@r SITdT g1 39 i 99T & “FRAUDS” & fha YR for@r simwem?

Options:

1) FXRVMK
2) VGXDUI
3) XDUIGT
4) TMKRDU

Correct Answer: VGXDUI
Candidate Answer: [ NOT ANSWERED ]

QID : 238 - In a certain code language, '+' represents '+', '-' represents 'x', '+' represents '+' and 'x' represents '-'. Find out the answer to the following question.
18+ 2x30+6-4=7?
R PRI S A H '+, '+ P TERTd AT §, -, X' & ISRIT IAT 8, '+, '+ & ISR T § 3R 'K, - & Y& id adr §| Reafai@d 92T F7 3cck A1d AL

18+2x30+6-4="7?
Options:

1) 46

2)3

3)36

4)7

Correct Answer: 3
Candidate Answer: 3
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QID : 239 - The following equation is incorrect. Which two signs should be interchanged to correct the equation?
30+2-10x6+5=35
Frafaf@a gefiawor T §1 389 THFT Al TEr AT & forw fohet F [RIegl il 39| & 3icelT-geoll eIl ATigu?

30+-2-10x6+5=35
Options:

1) + and +

+3R +

2)-and +

- 3R+

3) + and x

+ 3R x

4) + and x

+ 3R x

Correct Answer: + and x

+ 3R x

Candidate Answer: + and x

+ 3R x

QID : 240 - If 3#5 = -20, 1#4 = -30 and 6#5 = 10, then find the value of 4#9 = ?

i 3#5 = -20, 1#4 = -30 3R 6#5 = 10, A 4#9 = ? T AT AT |

Options:
1) 70

2) -60
3)-50

4) -70
Correct Answer: -50
Candidate Answer: [ NOT ANSWERED ]

QID : 241 - Which of the following terms follows the trend of the given list?

ZYXYXYXY, ZWXYXYXY, ZWZYXYXY, ZWZWXYXY, ZWZWZYXY,

fAFAfaf@d 7 & e @ ug &§ 72 G & %A F AR §?

ZYXYXYXY, ZWXYXYXY, ZWZYXYXY, ZWZWXYXY, ZWZWZYXY,
Options:

1) XYXYXYXY

2) ZYXYXYXY

3) ZWZWZWXY

4) ZWXYXYXY

Correct Answer: ZWZWZWXY
Candidate Answer: ZWZWZWXY

QID : 242 - A post-man starts cycling from his post office. He cycles 7 km South, then turns West and cycles 5 km, Then turns North and cycles 6 km, then turns to
his right and cycles 5 km. Where is he now with reference to his post office?

T GECHA 3T STHER § ASTohel T fo¥eheral §| I ATsfonel & STAT0T Y aveh 7 for.afh. Sirer 8, e afest & avw fsar § 3K 3mr 5 fnaf. Srar €, A sea it ove
HsaT & 3R 3T 6 .70, Trsfehel wwelra 8, TR a8 319et g1fee e Heel & 3iR @rsferel & 3mY 5 fp.#Y. ST &1 379w STeheR o Hest & g 319 Tl 87
Options:

1) 1 km North

1 A 3cR

2) 2 km North

2 R 3R

3) 1 km South

1 .7, gfaor

4) 2 km South

2 .=, gfeyor

Correct Answer: 1 km South

1 .70, gfayor

Candidate Answer: 1 km South

1 fr.=h, gfayor
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QID : 243 - In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: All potatoes are chips
Statement II: All french fries are potatoes

Conclusion I: No chips are french fries
Conclusion II: Some french fries are chips

e F &l U o I § Fores 31T Y sy 1 31 11 feprer a1 €1 31T9eh! AT & 1 Sl U T § T8 a8 T AT a3t & @ welid gl g1 3maehr iAoy
HTAT § 1 T 7w foysepst 7 F Fla-ay/wla-8 Ri¥ad §9 F FU garT & e o Ghar g/asd ¢, I 315 8

et 1: Tl 3mme] Forew gy &
FYT 11: T ST WhISet AL 8y &

s I: A off Rcw S wIsST 76T gl

sy I1: 7o e wiger foew g &

Options:

1) Only conclusion I follows

Fae AT [T &

2) Only conclusion II follows

o forsey [[ T g

3) Both conclusions I and II follow

At forseny 1 3R 11 & g

4) Neither conclusion I nor conclusion II follows

ATt TSRy 1 JEY § &7 & sy 11

Correct Answer: Only conclusion II follows

Fael TSRy 11 T@ET &

Candidate Answer: Neither conclusion I nor conclusion II follows

T TS I GET & o7 &1 fovseny 11

QID: 244 -

In the following figure, rectangle represents Reporters, circle
represents Lyricists, triangle represents Potters and square
represents Europeans. Which set of letters represents Europeans
who are not Potters?

fefafea smgfa & 3 R & weffa & g,
3ed MAPR! F TR 3 ¢, e Weww & FeRid He
¢ AR Ml @ GeR @ g1 HeRT @ He 6w
3 TR & R & § S aewE @ 2

G
F

B/CHlJ

A/ D

[ E \

Options:
1) FC

2) GB
3) AD

4) DE
Correct Answer: GB
Candidate Answer: GB
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QID : 245 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
API, CRK, ETM, ?, IXQ
T TR T ara B, e & vk ue e 81 Ru arv et # @ @ |E) Ry 9T, S Jegsha i U |

API, CRK, ETM, ?, IXQ
Options:

1) HUP

2) GVO

3)IvP

4) 1IUO

Correct Answer: GVO
Candidate Answer: GVO

QID : 246 - In the following question, select the missing number from the given series.
108, 104, 100, 96, 92, ?
TF=ATe e weat # U 1T fashoul & & oot 3ish A1l Hifaiw|

108, 104, 100, 96, 92, ?
Options:

1) 88

2) 84

3)90

4) 86

Correct Answer: 88
Candidate Answer: 88

QID : 247 - In the following question, four groups of three numbers are given. In each group the second and third number are related to the first number by a
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

A e are weat #, e St IR wegp T e §1 YA wegg H GEy T R S Ugel ST § T veh o/ et @ weatid g1 et 34 v e/ e %
YR W A §1 U a0 Rewvedl & § Bt &1 gav)

Options:

1) (14, 29, 43)

2) (15, 31, 46)

3) (18, 37, 52)

4) (13, 27, 40)

Correct Answer: (18, 37, 52)
Candidate Answer: (18, 37, 52)

QID : 248 -
If a mirror is placed on the line MN, then

which of the answer figures is the right
image of the given figure?

Ife Te dor S MN Y@ 9 T@r AT ar &
I I IMHIAA H F FlA-T 3Hfd IoA
i F Ter giafsrs gef?

M N

&
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Options:

1)
X
2)
X
3)
X
a)
X
Correct Answer:
X
Candidate Answer:
X
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QID: 249 -

Which of the following cube in the answer
figure cannot be made based on the unfolded
cube in the question figure?

fAFIfaf@d 3cat Apfa & & Hler @1 gt AT
AT WA A 7 & ol o7 ¥ TR A
ST Hhar?

o o]
o
o o]

O|OH|*
X

Options:
1)

2)

W)

o 0
o
o 0

Correct Answer:

O

Candidate Answer:

=
*O

> 10
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QID : 250 -

A word is represented by only one set of numbers as given in any one of the alternatives. The sets of
numbers given in the alternatives are represented by two classes of alphabets as shown in the given
two matrices. The columns and rows of Matrix-1 are numbered from 0to 4 and that of Matrix-ll are
numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by
its column, for example 'B' can be represented by 13, 41 etcand 'R’ can be represented by 58, 59 et
Similarly, you have to identify the set for the word 'SWAM.
T e Hael UH GEAHAE qan g g, e Rt F & B v A
fear 81 fawedt # v v wem-aAg s & o @@ aEw v v S
ik & 10 & 3eggt A §1 3Megg-| & TR AR I & FEa 0 & 4 3R megEl
F5F 9 e ¥ R W A ol I 9 N aR A TR e
ZanT Gl ST BT 1 SeENr & U B 13, 41 3R q@n el o W §
U R & 58, 59 W gawr gurn o1 e g o6 avE @ e wa & T e
‘SWAM & foT w9 &1 JgameT ¢l

Matrix | Matrix 1l
FregE -1 H=gE -
0 1 2 3 4 5 & 7 8 9
Q A L ) F B 5 Y A} Q R R
1 L F M B ] -] U £ z P O
2 ] | D G F 7 v ¥ Q 0 M
3 A F A G ] 8 N 5 P 0 T
4 B B M I F 9 . z W u 0
Options:

1) 14,75,40,98
2) 86,97,32,12
3) 31,96,11,77

4) 24,65,13,95
Correct Answer: 86,97,32,12
Candidate Answer: 86,97,32,12

QID: 251 -
550x651=662

Find the remainder in the expression =

AT —550*6?1 *862 o1 o T w1
Options:

1)5

2)4

3)0

4)3
Correct Answer: 0
Candidate Answer: 0

QID: 252 -
Simplify (11.998)° =2

e HIfSr (11.998)° =2

Options:
1) 1727.136

2) 1331.136
3) 1685.136

4) 1700.136
Correct Answer: 1727.136
Candidate Answer: 1727.136
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QID: 253 -
{a 4
Find the value of l_ Jugs
i)

(46
)

&I A AT B

Options:
1)1

2)2
3)3

4)4
Correct Answer: 2
Candidate Answer: [ NOT ANSWERED ]

QID: 254 -

Determine the value of (a+ 1:|b'T when a® = 343 .
(a+ 1)1 A1 M F{T a® =343 B

Options:
1)9

2) 64
3) 125

4) 216
Correct Answer: 64
Candidate Answer: [ NOT ANSWERED ]

QID : 255 -

In the two triangles ABC and DEF the sides AB=DE and BC=EF. Which of the
following option is correct which results in the AABC = ADEF ?

& Teger ABC 3R DEF # 8o AB=DE 3R BC=EF | e & & =i= @r
oo WEr & o/ TROTATaST AABC = ADEF g7

Options:
1)
ZACB = ZEDF

2)
ZBAC = ZEDF

3)
ZACB=ZDFE
4)
LABC = ZDEF

Correct Answer:
ZABC = ZDEF

Candidate Answer: [ NOT ANSWERED ]

QID : 256 - The triangle ABC and DEF are similar to each other. The measure of the angle A and E is 67 and 83 degree respectively. What is the value of angle C?

T39T ABC 31 DEF Ueh-g@iX o HaTe 8| A 3R E 10T shafer: 67 3R 83 4l | &hI0T C o7 AT T 82
Options:

1) 20°

2)30°

3)40°

4)50°

Correct Answer: 30°

Candidate Answer: 40°

QID: 257 -IfR =97 and S = 155.2, then S is how much percentage more than R?

IfgR =97 TS = 155.2 8, A S, R & fohctar wfaera 3ifdye 82
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Options:

1) 60

2)37.5

3)58.2

4) 48

Correct Answer: 60
Candidate Answer: 60

QID : 258 - The ratio of two numbers is 5 : 6. If their product is 1470, then what is the sum of both the numbers?

Y A3 FT I 5 : 6 81 AR IoTahT AUl 1470 §, ot Qledt HEAT3HT bt ey 77 82

Options:

1) 210

2)77

3) 132

4) 98

Correct Answer: 77

Candidate Answer: [ NOT ANSWERED ]

QID : 259 - U starts a business by investing Rs 45000 and V join him after one year with an amount of Rs 33000. After two years from the starting of business, they
a earned profit of Rs 16400. What will be the U’s share (in Rs) in the profit?

U 45000 % fA=r #Xeh Ueh SAMIR e el & TUT T a8 9eerd V, 33000 T T IRY &A1Y 3HY 33 STl 8| STAR & TR gt o & a¥ qele 3o 16400 T T e
SIS E31T| o187 & U 7 feeem (% #) Fam gom?

Options:

1) 11200

2) 9600

3) 10000
4) 12000

Correct Answer: 12000
Candidate Answer: [ NOT ANSWERED ]

QID : 260 - A man buys 7 shirts at Rs 300 each, 2 trousers at Rs 450 each and 1 pair of shoes at Rs 500 each. What is the average expenditure (in Rs) per article?

Teh q& 300 & Yfcl T e & 7 e, 450 T Uil 1 & A 2 UeTefed AUT 500 T 9 1 2T & 1 S Sl @lieen §1 9 g sitaa oo (3 #) a1 g2

Options:

1) 210

2) 250

3) 320

4) 350

Correct Answer: 350
Candidate Answer: 350

QID : 261 - Compound interest on a certain sum for 2 years at the rate of 11% per annum is Rs 1160.5. What will be the simple interest (in Rs) for the same
amount at the same rate of interest for 2 years?

T AT TRI 0 11% 1 aTfiier &3 & 2 ot &1 wehqgfg sarer 1160.5 & 8| FHT TR 0 FATT 71T & A 2 a1 FUROT ST (& H) 447 gram?

Options:
1) 9000
2) 1000
3) 1100
4) 1050

Correct Answer: 1100
Candidate Answer: 1050

QID : 262 - Two shirts are bought at the rate of Rs 400 each. Shopkeeper sells one at the profit of 150% and other at the loss of 150%. What will be the total
profit or loss in the whole transaction?

2 IS 400 T U T 2T & TG 7S § GHAER Tgell I 150% F 1T TR TUT GEIY F 150% HT g1t O— S=rell &1 G elefead F FooT oS QT g1fet T grar?
Options:

1) Loss of Rs 50

50 T T glfel

2) No profit/loss

1S ATH/EI e

3) Profit of Rs 25

25 T & olreT

4) Loss of Rs 150

150 T & gTfer

Correct Answer: No profit/loss
FIS T/ TET
Candidate Answer: [ NOT ANSWERED ]

QID : 263 - Deepak marks the price of his table 60% above the cost price. He gives some discount on it and earns profit of 15.2%. What is the discount
percentage?

EI9eh 3Tl AT o Hed 1 hd Hed A 60% 3k 3ifehcd AT &1 6 30 T TS G &l § AT 15.2% T 1T FHHAICT ¥ T TN F1 82
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Options:
1) 36.4
2) 28

3) 44.8
4)38.9

Correct Answer: 28
Candidate Answer: [ NOT ANSWERED ]

QID : 264 -
What is the value of 3729 +~/441- #3437

Y729 +J441- 3343 =7 A FIT B2

Options:

1) 48

2)23

3)7

4) 41

Correct Answer: 23
Candidate Answer: 23

QID : 265 - Parvesh is three times as efficient as Dinesh. Parvesh takes 20 days less than Dinesh to complete a book. If both of them work together, then in how
many days the book will be completed?

3%, TEeART & el I[AT IAFRI & | TV Toh Ycieh 1 QN el 3 el F 20 ot ot oclr &1 FF 2t Tt hrd et §, Tt Goctoh et feieT &7 ol g1 Seeh?
Options:

1)7.5

2)8

3)10

4) 6.5

Correct Answer: 7.5

Candidate Answer: [ NOT ANSWERED ]

QID : 266 - If Shubhangi walks with a speed of 2 km/hr, then she reaches her school 5/2 minutes late but if she walks with a speed of 2.5 km/hr, then she reach 5
minutes before the scheduled time. What is the distance (in km) of her school from her house?

T qpeiaft 2 fop. Y. /et i 1fdy @ wereht & o a8 39 faerer 5/2 ﬁﬂtﬁaﬁﬁqﬁ?ﬁ%,qigaﬁagz.s . /ger Hr afd T g &, N ag RuRaaag a5
Tﬁa'c:q%ﬁqgvirsm-ﬁ’s‘l 3HF W 3TF faerer 1 glf (Fr.an. ) F=r §?

Options:

1) 1.025

2) 1.125

3)1.25
4)15

Correct Answer: 1.25
Candidate Answer: [ NOT ANSWERED ]
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QID: 267 -
The pie chart shows the results of an online survey which
asked people about their favourite travel destination. Study
the diagram and answer the following questions.

g U A U A FHeor & gRone gefier §
ot ot @ 3 SEdT AT Aae & AR F g
TT AT T INW F ’EATT HY ’R Frafafaa weat
& Il ¢l

Number of people / AT F&aT

Which travel destination is the favourite of most people surveyed?

oy a3y gdetor & 31feRier e T GHEET Iided TATT i IT &2
Options:
1) Hong Kong
M
2) Mauritius
A
3) Singapore
o
4) Goa
anar

Correct Answer: Goa

ahar

Candidate Answer: Goa

ahar
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QID : 268 -
The pie chart shows the results of an online survey which
asked people about their favourite travel destination. Study
the diagram and answer the following questions.

g U A U A FHeor & gRone gefier §
ot ot @ 3 SEdT AT Aae & AR F g
TT AT T INW F ’EATT HY ’R Frafafaa weat
& Il ¢l

Number of people / AT F&aT

What is the total number of people who have responded to the survey?

TETOT F TTITRAT ¥ aTel W19 ohT oof HEAT T 82
Options:

1) 2150

2) 2400

3) 2250

4) 2100

Correct Answer: 2250
Candidate Answer: 2250

QID : 269 -
The pie chart shows the results of an online survey which
asked people about their favourite travel destination. Study
the diagram and answer the following questions.

qg 915 O UF SiiAcrsd gaaor & oRomA efar ¥
o ot A 9% Hder I dded ¥ A A
I AT| SH INW H ;AT H¥ 3R Fr=faf@a weat
& 3cc dl

Number of people / YT T

The measure of the central angle of the sector representing number of people whose favourite travel destination is Hawaii is degrees.

TR THAIET TTHT Iided gaTs & wiail sl H&AT &1 i fica et arel &1 & a1 1T &1 A1 fZafr &

Options:

1) 10

2) 12

3) 15

4)8

Correct Answer: 8

(cULILEI RV SRS | agtest Sarkari Jobs, Govt Exam Results,
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QID : 270 -
The pie chart shows the results of an online survey which
asked people about their favourite travel destination. Study
the diagram and answer the following questions.

Jg S AE TS AT Fderor & aRomA gufar §
fored et & 3% qwdler A daed ¥ aX # qor
IR AT| 3H INT FT 3T F{ 34 F=afaf@a geat
& 3cc &l

Number of people / AT Feam

Hawaii [
ik, 50

Respondents who say their favourite travel destination is Goa and those who say their favourite travel destination is Hong Kong constitute what percent of the total
respondents?

Tl SecRETaT3it &1 g1 & o SeTeht qeEler Irar 3icey alar § 3R TSiefehr THEYeT AT IicTed GIITehiaT §, & Fel SccRald3il i fhcte gfcrerd aifae sat §2
Options:

1) 25%

2) 33.33%

3) 30%

4) 40%

Correct Answer: 40%

Candidate Answer: 40%

QID : 271 - The length of the diagonal and the breadth of a rectangle are 26 cm and 10 cm respectively. Find its perimeter (in cm).

T 37T F fahot fr dfars 3R 3T aiers waer: 26 @4 3R 10 F.. &1 sadh aRam (@8 7) g w1
Options:

1) 68

2) 136

3)43

4) 86

Correct Answer: 68

Candidate Answer: 68

QID : 272 - If the sum of the interior angles of a regular polygon is 1260° , then how many sides does it have?

Ife; weh AP sgager & 3dRen IO 7 29T 12600 ¢ A 3T ool =T &2
Options:

1) 10

2) 12

3)15

4)9

Correct Answer: 9

Candidate Answer: [ NOT ANSWERED ]

QID : 273 - Find the volume (in cm3) of a right circular cylinder of diameter 42 cm and height 14 cm.

42 .7, =ara 3R 14 F.7. TS AT U T Gl SoleT T AT (6T T 7) AT

Options:
1) 19404
2) 18018
3) 17321
4) 16729
Correct Answer: 19404

Candidate Answer: [ NOT ANSWERED ]
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QID : 274 - NABC is right angled at B. If mzA = 30°, then find the value of (sinC + 1/3).

AABC # B W GHSIOT ¥ IR mzA = 30°, & (sinC + 1/3) &l ATl A1 &L
Options:

1) 4/3

2) (V3+1)/2

3) (V3+2)/V3

4) (3V3+2)/6

Correct Answer: (3V3+2)/6
Candidate Answer: [ NOT ANSWERED ]

QID : 275 - ADEF is right angled at E. If cosD = 5/13, then what is the value of tanF ?

ADEF # E 9 GHHIUT &1 Ife cosD = 5/13, aY tanF & AT FT §?
Options:

1) 5/13

2)5/12

3) 13/5

4) 13/12

Correct Answer: 5/12

Candidate Answer: 5/13

QID : 276 - What does cyclical unemployment mean?

TP SRAISTITRY T 7T 379 872

Options:

1) Unemployment during recessionary phase of trade cycle

SR Tk 7 ALY & NI SIS

2) Disguised unemployment

TS SRISTITRY

3) Seasonal unemployment

A Sy

4) Voluntary unemployment

wifte®s RISy

Correct Answer: Unemployment during recessionary phase of trade cycle
SR T 7 AET & NI SIS

Candidate Answer: Unemployment during recessionary phase of trade cycle

SATIR Tsh H FEY & SRTeT SRISTIRY

QID : 277 - During which Five Year Planning was NABARD established?

oy crerafiar 2ottt & gRTeT HATaTS T FATI g A
Options:

1) Fifth

grerar

2) Sixth

oaT

3) Third

e

4) Ninth

atar

Correct Answer: Sixth
TaT

Candidate Answer: Sixth
BT

QID : 278 - Which of the following rulers started the Mughal style of painting?

el i FTer Aol fArfafad & & fha amaes & Ta7a § 4F g?
Options:

1) Babar

EIEEd

2) Humayun

&L

3) Akbar

3ThsT

4) Jahangir

BRI

Correct Answer: Humayun
Candidate Answer: Jahangir
STETi
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QID : 279 - Which of the following is related to the Tinkathiya Pratha?

faeTenfear g &1 Gee faeer F & fFg a7 T g2
Options:

1) Champaran

FAROT

2) Kheda

el

3) Bardoli

ISt

4) Darbhanga

EIH

Correct Answer: Champaran

FAROT

Candidate Answer: [ NOT ANSWERED ]

QID : 280 - Which of the following pairs is NOT correctly matched?

ffafla 7 & Fia-ar Zeo gafod 61 82
Options:

1) Silent volcano : Damavand

oMl ST : §adE

2) Active volcano : Stromboli

ST STeTE- TE@stel

3) Dormant Volcano - Krakatau

o \rdlﬁléj’@'- ShTehICT3M

4) Extinct volcano - Etna

TAfSsha ST - vear

Correct Answer: Extinct volcano - Etna
TAfSha ST - vear

Candidate Answer: [ NOT ANSWERED ]

QID : 281 - The mountain situated in the north-west India is:

ScaR-IRaH ARA 7 RFya 9dd &: I
Options:
1) Aravali
IRTFelr
2) Vindhyachal
Fearae
3) Hindukush
%rgaj q
4) Satpura
HageT
Correct Answer: Aravali

3RTF

Candidate Answer: Aravali

3RTTT

QID : 282 - In which of the following areas, Pandit Jasraj has established his reputation?

TS RIS of feaAtafad # & fora &1 & 3r9elr ufaser wenfia $r g?
Options:

1) Literature writing

HIfged et

2) Instrumental playing

CICRCICT)

3) Classical singing

AMERT IMIT

4) Classical Dance

A T

Correct Answer: Classical singing
AT MM

Candidate Answer: Classical Dance

AT e

QID : 283 - Which of the following has become the first country in the world to pay equal salary to men and women?

el & & il qest 3R AR 1 FHI dcfT &l dTell faed &l Tgell G2 & ITAT §?
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Options:
1) Iceland
sEevy
2) Denmark
SAATS

3) Sweden
EIEC

4) Russia
£33

Correct Answer: Iceland
3TSIUE

Candidate Answer: Iceland

HFHATS

QID : 284 - Which Bollywood actor was honoured with the 24th Crystal Award at the world Economic Forum meeting in January 2018?

e Sieligs AT 1 Faradr 2018 # faeg 3nfis 7 w 243 freee 3@t & FFATREIa fomar arm?
Options:

1) Shahrukh Khan

METW Wil

2) Aamir Khan

3nfaR @

3) Salman Khan

HTHTT Wl

4) Saif Ali Khan

Hw 37cl @1t

Correct Answer: Shahrukh Khan
ME?W Wil

Candidate Answer: Salman Khan
HeTHTeT Wle

QID : 285 - National Flag of Bangladesh was designed by

TEACAFITETETA _ ZaRT 3ol fonam aram |
Options:

1) Nandlal Bose

FAeerer S

2) Kazi Nazrul Islam

FHISH TASTE SEATH

3) Kamrul Hasan

FHIHE gl

4) Ziaur Rahman

[ERIETEEEICH

Correct Answer: Kamrul Hasan

FIASA glaT

Candidate Answer: [ NOT ANSWERED ]

QID : 286 - Which of the following is NOT a nucleon?

FATf@d 3 8 FleT A1 U g Fol 3T 781 87
Options:

1) Proton

grete

2) Electron

ERETG

3) Neutron

FZ&'TFI’

4) No option is correct.

FS eheT TEY 8T
Correct Answer: Electron
gelargiel

Candidate Answer: Electron

ForFeiel
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QID : 287 - Baking soda is used .

1. for making baking powder
II. in soda-acid fire extinguishers
III. to neutralize excess acid in the stomach

Sfefer |rsT 7 9T # g gl

1. ST 913X Ty

I1. |aT 37 e 3TaAmas

I11. 9 3 37l ST TAHAT FT 3T et
Options:

1) Only I and II

el I g2 I1

2) Only I and III

el I T 111

3) Only II and III

gl 11 g I1I

4) All I, IT and III

I, II 2T 111 |8

Correct Answer: All I, IT and III

I, I1 2T 111 TsfY

Candidate Answer: Only II and III
el 11 T 111

QID : 288 - What are the minimum qualifications of a person to become a member of Lok Sabha?

I. Must be a citizen of India
II. Must not be less than 25 years of age
III. Must hold an office of profit under Union Government.

FANHEHAT T TG Tefet & (1T fordlt Al T eTaat Aegar a7 glett anfeu?

1. 9% AR AR g anfRw|

I1. g & ¥ %# 25 T 6 3 HT a1 AR
I11. 98 & TIHR & 3idard frar amerfad ue @) glar =fiRu)
Options:

1) Both I and II

I g2 II =t

2) Both I and III

I 2T III &%t

3) Both II and III

11 g2 111 gt

4) All I, II and III

I, I1 2 111 @sfY

Correct Answer: Both I and II

I a2 II =t

Candidate Answer: Both I and II

I 2T II &=t

QID : 289 - In Indian parliamentary system, the leader of the largest opposition party having not less than

recognized as the leader of the opposition in that House.

seats of total strength of the house is

AR HHEIT FOT, T 931 faqadt arel & oisy foraeh 9T et 1 Foel TEAT 1 Tt O e LT 8, 39 Hew o [auaf gt 1 s AT ST &

Options:
1) 1/10th
1/10 &t
2) 1/9th
1/9 &F

3) 1/8th
1/8 d@F

4) 1/7th
1/7 ¥
Correct Answer: 1/10t"
1/10 &t

Candidate Answer: 1/10t
1/10 &F

QID : 290 - What is regulated by the sphincter muscle in the stomach?

SR Oef qarT AT 7 v g fEa oA 2
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Options:

1) Exit of the food from the stomach

3HARRT T Al &1 A

2) Entry of food in the stomach

SR H AT T 92T

3) Mixing of food in the stomach

STHARRT & it &1 fAsoT

4) Exit of food from the large intestine

Jeaid & #oTet &1 e

Correct Answer: Exit of the food from the stomach

SRR § Aol &1 A

Candidate Answer: Exit of the food from the stomach

ITATIT T FSTeT FT fAhra

QID: 291 - of species is a reflection of their evolutionary relationships.

Sfrat & r 3oTeh T3 & Hae #7 wiafeT &1
Options:

1) Characteristics

JifarcraTor

2) Adaptation

o

3) Illustration

e

4) Classification

gaffeRzor

Correct Answer: Classification

gafferzor

Candidate Answer: Characteristics
3if&reraTor

QID : 292 - National Skill Development Corporation (NSDC) and are planning to launch ‘Android Skill Development Programme’ to impart mobile app
development training.

TSET Firer TaspreT HemT (TS aar Aase VT e 9fAeTor 2 & foIv 'Usiss hel STeusie WA’ Aihiiid ael T Astell a1 3 &1
Options:

1) Microsoft

HISHIAITC

2) Google

T

3) Amazon

HASTT

4) Infosys

ERTIne]

Correct Answer: Google
AT

Candidate Answer: Google
I&TeT

QID : 293 - What is the name of the technology developed by Australian Scientists to transform soybean oil into graphene?

AIATET et T ATHIA H dgetal & fow siteeforars danfaent earT faewfad b F = Far §?
Options:

1) Grape

I

2) GraphOne

IThdeT

3) GraphSoy

THATT

4) GraphAir

ITHTIAT

Correct Answer: GraphAir
ATHTIT

Candidate Answer: [ NOT ANSWERED ]

QID : 294 - In August 2017, who launched 'S&P BSE Bharat 22 Index"?

3ATE 2017 #, forgal 'vg U3 df ivds HRXA-22 Ferehich’ el fhar?
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Options:

1) Asia Index

TR Fahih

2) Europe Index

3) Australia Index

e forr gaeie

4) Africa Index

3TRYERT TR

Correct Answer: Asia Index
T FaHw

Candidate Answer: [ NOT ANSWERED ]

QID : 295 - On 3 January 2018, Lok Sabha passed Ancient Monuments and Archaeological Site and Remains (Amendment) Bill, 2017 which amends the .

3 STeTaY 2018 I, AHEHT o Wreilel THNS U WIdcd Tl AT AV (FeereT) faerges, 2017 & o fwar St AT T &
Options:

1) Ancient Monuments and Archaeological Sites and Remains (AMASR) Act, 1958

TEeT TARE TUT Rcdcd Tl U9 eIV (VUATTHIR) faf=as, 1958

2) Ancient Monuments and Archaeological Sites and Remains (AMASR) Act, 1978

TEeT TARE TUT Rcdcd Tl U9 eIV (VOATTHIR) iz, 1978

3) Ancient Monuments and Archaeological Sites and Remains (AMASR) Act, 1988

TEeT TARE TUT Rcdcd Tl U9 eIV (VUATTHIR) fafzas, 1988

4) Ancient Monuments and Archaeological Sites and Remains (AMASR) Act, 1996

TEeT TARE TYT Rcdcd Tl Td eIV (VUATTHIR) JfAfaH, 1996

Correct Answer: Ancient Monuments and Archaeological Sites and Remains (AMASR) Act, 1958
GTeeT THR TAUT icled T Td AV (TCHATTHIR) rfafrge, 1958

Candidate Answer: Ancient Monuments and Archaeological Sites and Remains (AMASR) Act, 1978
ATt TR TUT Rclcd T T GV (TCATTHIR) iz, 1978

QID : 296 - Find the kinetic energy (in J) possessed by a body of mass 10 kg moving with a velocity of 5 m/s.

10 RIS GEATST aTelt a%q T ATfceT Fat (S ) T Y foraert der 5 Hey/des g

Options:
1) 25

2) 125
3) 62.5

4) 50
Correct Answer: 125
Candidate Answer: [ NOT ANSWERED ]

QID : 297 - If the acceleration due to gravity on the surface of earth is g, then the acceleration due to gravity on the surface of a planet whose mass is double that
of earth and radius is same as that of earth is .

T Gl 1 Felg W IecdIg a0 g ¢ A AT 718 TSrHent 5eg@lTe G2dl & Gt & i T foraht Fisar gedt &1 B & sl 8, W Iecdly caior gl
Options:

1) 2g

2)g

3)g/2
4) 49

Correct Answer: 2g
Candidate Answer: g/2

QID : 298 - An earthquake of magnitude 6 on Richter scale has times more destructive energy than an earthquake of magnitude 4.

Rered YA 0, 6 TRATOT & ey oy iy faameh 33T 4 aRATOT & sy i Jora & e 31feres g1l B
Options:

1) ten

=53l

2) hundred

|t

3) five

i

4) thousand

&R

Correct Answer: thousand
IR

Candidate Answer: thousand

ol
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QID : 299 - Which of the statements given below are correct?

A) In 2017, Gary Cahill captained the Premier League team Chelsea.
B) In 2017, Jordan Henderson captained the Premier League team Liverpool.
C) Canada hosted the 2017 AIBA World Boxing Championships.

rafaf@a 3 &« a1 s T &2

A) 2017 # 3R gt F NIATH oer S T HT FHeder $Hl

B) 2017 SISt ga¥@et o WA et E1o forawyer &1 et 1|
C) FeTTST of 2017 TINSAT Jos ST FFIAATRNT T FASTare
Options:

1) Only B

Fad B

2) Both Aand B

A 3R B gt

3) BothBand C

B 3R C gt

4) None of these

G A IS G

Correct Answer: Both A and B

A 3R B &=t

Candidate Answer: [ NOT ANSWERED ]

QID: 300 - is the premier trade body of and the chamber of commerce of the IT-BPO industry in India.

YA AR oo § 3R AR A IEE-AN3i Seer i Faw 31w Hiad|
Options:

1) NIC

TA3MTEEH

2) NASSCOM

Bricar:|

3) Department of Information Technology
=T ey fasmar

4) State Bank of India

Correct Answer: NASSCOM

TR

Candidate Answer: Department of Information Technology

T St AT fsmer
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